
Rearranging Formulae 
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1 Rearrange the following equations to make 𝑥 the subject.  

For all questions, give your answer in its simplest form. 

1(a) 3𝑥 = 8

[1 mark]

Answer

1(b) 5𝑥 = 2𝑦

[1 mark]

Answer

1(c) 5

𝑥
= 2𝑦

[1 mark]

Answer

1(d) 10 − 𝑥 = 5

[1 mark]

Answer

Turn over for next question

Turn over ►

4



3

2(a) Rearrange 𝑏 − 2𝑥 = 𝑛 to make 𝑏 the subject.

[1 mark]

Answer

2(b) Rearrange 𝑡2 = 3𝑥 + 1 to make 𝑥 the subject.

[1 mark]

Answer

2(c) Rearrange 3𝑝 + 4 = 6 − 𝑞 to make 𝑞 the subject.

Simplify your answer.

[1 mark]

Answer

2(d) Given 𝑥 − 2 = 3𝑎 find 𝑥 in terms of 𝑎

[2 marks]

Answer

Turn over for next question

Turn over ►
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3(a) Make 𝑆 the subject  of 2𝑆 + 3 = 𝑇 − 5

[2 marks]

Answer

3(b) Make 𝑦 the subject of 

3 + 𝑥

𝑦
= 2𝑥 + 1

[2 marks]

Answer

Turn over ►

4



5

4(a) Rearrange 𝑚(𝑥 + 3) = 2 + 𝑥 to make 𝑚 the subject.

[1 mark]

Answer

4(b) Rearrange 2𝑝𝑥 + 3𝑝 = 1 + 2𝑥 to make 𝑝 the subject.

[2 marks]

Answer

4(c) Rearrange 2𝑚𝑥 + 10 = 3𝑥 + 𝑚 to make 𝑥 the subject.

[3 marks]

Answer

Turn over for next question

Turn over ►
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5 Rearrange the formula below to make 𝑚 the subject.

𝑛 =
𝑚 − 4

𝑚 + 3

Show all your working clearly.

[4 marks]

Answer

6 Rearrange the formula below to make 𝑥 the subject.

𝑦 + 1 =
2𝑥 − 10

𝑥 + 1

Show all your working clearly.

[4 marks]

Answer

Turn over for next question 

Turn over ►
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7 The formula for the volume of a cone, 𝑉 𝑐𝑚3, is shown below

𝑉 =
1

3
𝜋𝑟2ℎ

Given that the height of the cone is twice the radius, find 𝑟 in terms of 𝑉.

[3 marks]

Answer

End of Questions

END

Not drawn 

accurately

3

ℎ

𝑟
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